Contract ID

: 25FG0050

Contract Name

: Construction of Flood Mitigation Structure

Location of the Contract

: Carapdapan Creek, Barangay Abo, Barangay San

Miguel, Barangay Casuna, Tigaon, Camarines Sur



Republic of the Philippines DEPARTMENT OF PUBLIC WORKS AND HIGHWAYS CAMARINES SUR 4TH DISTRICT ENGINEERING OFFICE

Tigaon, Camarines Sur

CONTRACT AGREEMENT



KNOW ALL MEN BY THESE PRESENTS:

This CONTRACT AGREEMENT, made this, 2010 day of June, 2025 by and between:

The GOVERNMENT OF THE REPUBLIC OF THE PHILIPPINES through the Department of Public Works and Highways (DPWH) represented herein by, GEMMA B. TIMBANG, duly authorized for this purpose, with main office address Office at Caraycayon, Tigaon, Camarines Sur, hereinafter referred to as the "PROCURING ENTITY";

-and-

IA FERRER CONSTRUCTION & SUPPLY, a corporation organized and existing under and by virtue of laws of the Republic of the Philippines, with main office at Dama De Nache St. Jarden De. Real Subd. Del Rosario, Naga City represented herein by IAN ARVIN G. FERRER, duly authorized for this purpose, hereinafter referred to as the "CONTRACTOR";

Jeneral Manager ítn g, ferrer

CONFRACTOR

WITNESSETH:

WHEREAS, the PROCURING ENTITY is desirous that the CONTRACTOR executes the Works under: Construction of Flood Mitigation Structure, Carapdapan Creek, Barangay Abo, Barangay San Miguel, Barangay Casuna, Tigaon, Camarines Sur, hereinafter called "the Works" to be completed within two hundred six (206) calendar days and the PROCURING ENTITY has accepted the Calculated Bid of the CONTRACTOR for the execution and completion of the Works at the calculated unit bid prices shown, or a total Contract price of THIRTY-EIGHT MILLION SIX HUNDRED EIGHTY-ONE THOUSAND FOUR HUNDRED NINETY-FOUR PESOS AND 48/100 ONLY (Php 38,681,494.48).

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS District Efigineer

Contract ID

: 25FG0050

Contract Name

: Construction of Flood Mitigation Structure

Location of the Contract

: <u>Carapdapan Creek, Barangay Abo, Barangay San</u>

Miguel, Barangay Casuna, Tigaon, Camarines Sur

Item Number	Description	Quantity	Unit	Unit cost (P)	Total Amount (P)	
PART A						
A.1.1(7)	Provision of Combined Field Office and Laboratory Building for the Engineer (Rental Basis)	6.87	mo.	11,151.00	76,607.37	
A.1.2(4)	Provision of 4x2 Pick Up Type Service Vehicle for the Engineers on (Rental Basis)	0.50	veh-mo.	39,648.00	19,824.00	
PART B	OTHER GENERAL REQUIREMENTS					
B.5(1)	Project Billboard/ Signboard	2.00	each	13,251.11	26,502.22	
B.7(1)	Occupational Safety & Health Program	1.00	. s.	333,105,18	333,105.18	
B.9(1)	Mobilization/ Demolization	1.00	l.s.	188,118.00	188,118.00	
PART C	EARTHWORKS					
100(1)	Clearing and Grubbing	0.42	ha.	218,631.88	91,825.39	
100(3)a1	Individual Removal of Trees (150- 300 mm dia., Small)	10.00	ea.	1,866.97	18,669.70	
100(3)a2	Individual Removal of Trees (300- 500 mm dia., Small)	5,00	ea.	2,837.66	14,188.30	
100(3)a3	Individual Removal of Trees (500- 750 mm dia., Small)	6.00	ea.	11,504.33	69,025.98	
PART H	MISCELLANEOUS STRUCTURES	3				
611(1)	Trees Furnishing and Transplanting	2,100.00	ea.	190.82	400,722.00	
DIVISION IV - FLOOD CONTROL, DRAINAGE AND WATER SUPPLY						
PART L-A	EARTHWORKS					
1701(1)	Unsuitable Excavation	1,750.00	cu.m.	325.08	568,890.00	
1702(4)b	Shoring, Cribbing and Drain Excavation (Cribbing/ Cofferdamming	1.00	,s,	2,042,917.42	2,042,917.42	
1704(1)a	Embankment (From Roadway/ Structure)	3,060.75	cu.m.	292.12	894,106.29	
1704(1)b	Embankment (From Borrow)	985.25	cu.m.	817.22	805,166.01	
1705(1)	Fill and Backfill	1,767.00	cu.m.	1,293.76	2,286,073.92	
	B BANK AND SLOPE PROTECTION WORKS					
1710(2)a	Grouted Riprap (Class A)	1,676.00	cu.m.	3,257.11	5,458,916.36	
1712(1)	Concrete (Slope Protection)	1,817.00		13,372.77	24,298,323.09	
	DRAINAGE WORKS				,	
1722(3)	Railings	825.00	ln,m.	1,319.41	1,088,513.25	
TOTAL IN F						
TOTAL IN WORD THIRTY-EIGHT MILLION SIX HUNDRED EIGHTY-ONE THOUSAND						
FOUR HUNDRED NINETY-FOUR PESOS AND 48/100 ONLY						

As availability of Funds:

RUEL B. BONGULTO

Accountant-III

ROGER ANTIO A. CARIÑO

Engineer-II

IAN ARYAN G. FERRER Proprieto//General Manager

CONTRACTOR

Government of the Republic of the Philippines
DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

GEMMA B. TIMBANG

District Engineer



Contract ID

: 25FG0050

Contract Name

: Construction of Flood Mitigation Structure

Location of the Contract

: Carapdapan Creek, Barangay Abo, Barangay San Miquel, Barangay Casuna, Tigaon, Camarines Sur

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

1. In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.

2. The following documents as required by the S2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:

a. Philippine Bidding Documents (PBDs);

Drawings/Plans; į,

II. Specifications;

iii. Bill of Quantities;

General and Special Conditions of Contract; Iv.

Supplemental or Bid Bulletins, if any; ٧.

b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bld evaluation;

Performance Security;

d. Notice of Award of Contract and the Bidder's conforme thereto; and

e. Other contract documents that may be required by existing laws and/ or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

In consideration of the payments to be made by the PROCURING ENTITY to the CONTRACTOR as hereinafter mentioned, the CONTRACTOR hereby covenants with the PROCURING ENTITY to execute and complete the Works and remedy any defects therein in conformity with the provisions of this CONTRACT AGREEMENT in all respects.

The Department of Public Works and Highways (DPWH), Camarines Sur 4th District Engineering Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

S. BONGULTO As availability of Funds: Accbuntant-III



CONTRACTOR

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS

MMA B. TIMBA District Enginee

Contract ID

: 25FG0050

Contract Name

: Construction of Flood Mitigation Structure

Location of the Contract

: <u>Carapdapan Creek, Barangay Abo, Barangay San</u> <u>Miguel, Barangay Casuna, Tigaon, Camarines Sur</u>

IN WITNESS WHEREOF, the parties hereto set their respective hands on the day, month and year first above written.

PROCURING ENTITY:

CONTRACTOR:

Represented by:

Represented by:

GÉMMÀ B. TIMBÁNG

District Englyéer

IAN ARYIN G. FERRER

Proprietor General Manager

Witnessed by:

ROGER ANTIÓ A. CARIÑO

Engineer-II

RUEL B. BONGULTO

Accountant-III

Contract ID

: 25FG0050

Contract Name

: Construction of Flood Mitigation Structure

Location of the Contract

: Carapdapan Creek, Barangay Abo, Barangay San

Miquel, Barangay Casuna, Tigaon, Camarines Sur

REPUBLIC OF THE PHILIPPINES PROVINCE OF CAMARINES SUR) S.S. MUNICIPALITY OF THE ASIN

ACKNOWLEDGEMENT

B. BONGULTO

RUEL

Acepuntant-III

4s availability of Funds;

BEFORE ME, as the Notary Public for and within the Municipality of Organi, Camarines Sur, personally appeared GEMMA P. Translated Tr Sur, personally appeared GEMMA B. TIMBANG, District Engineer; representing the REPUBLIC OF THE PHILIPPINES (Department of Public Works and Highways), with Resident Certificate Number 08459225 issued on January 14, 2025 at MTO-Bato, Camarines Sur, and IANARVIN G. FERRER with Residence Certificate Number 1021955 issued on January 4, 2025 at concepuou GRANDE known to me to be the same persons who executed the foregoing CONTRACT and AGREEMENT and they acknowledge to me that the same is their true act and deed for and in behalf of the parties they represented.

This instrument consists of five (5) pages, including this page, on which this acknowledgement is written duly signed by the contracting parties and their witnesses on the left margin of the other page.

IN WITNESS WHEREOF, I have hereunto affixed my signature and Official Seal this

ECTION B. ANDUJAR JR

ATTOK MOTTAR MEDIC COMMISSION DO JU25-50 UPTH, DECEMBER 31, 2026 IBP CAM SUR, C.R. NO. 480369 for 2025 PTR NO 4787847, JANUARY 14, 2025, NAGA CITY I IMENEZ HUDG., RIZAL ST., BAG, PEQUENU, GOA, CAMSUR

Doc. No. __118 Page No. ___ Book No.

Series of 2025

deneral Manager G. FERRER CONTRACTOR, IAN ARK

Government of the Republic of the Philippines DEPARTMENT OF PUBLIC WORKS & HIGHWAYS